
161/2"x1/2"xVARIES A36 PLATE AT SINGLE BEAM 
W/ (4) 3/4"0 A325 BOLTS EA. BEAM (TYP.)
W/ 3 1/2" GAGE

sCOL C^COL (^COL

BOLT SCHEDULE r-o" 11HSS5X5-12" -x- -x- -X- -X-
1 1/2" 9" 1 1/2" 1 1/2" 8" 1 1/2"HSS6X6-14"

1 1/2% 3"
x'x

SEE TYP. SHEAR TAB 
CONN. DETAIL

3 1/2" ONE INCH 
AT FULL SIZE 

IF NOT ONE INCH 
SCALE ACCORDINGLY

ROWS OF BOLTSBEAM DEPTH fV -x-x- -XXTYP. 3 (4) 3/4"0 ANCHOR 
BOLTS - SEE TYP. DETL. 
(SEE NOTE 21 
THICKNESS = 1"

W OR C BM. (SEE PLAN) EQ ! EQ'1 1/2" EQ EQ
i’—X—

\ SIDES J-1/2" 1/2"-' 1 1/2" (4) 3/4"0 ANCHOR 
BOLTS - SEE TYP. DETL.

CNJ8" & 10" BEAMS 2 ROWS -,<xW 12-BEAM (SEE PLAN) idBEAM (SEE PLAN)
^-"i-Tl— | —2 nr< THMss^r

-r HSS5x5 COL. (SEE PLAN) 
-m^r- 2"X1/4" PLATE WASHER

T.O.S. ELEVV4 •©" © oo12" & 14" BEAMS 3 ROWS aSEE FRAMING SECTIONS OoCNI HSS6X6 COL. (SEE PLAN)\16" BEAMS 4 ROWS coCsji, - CD
Oa11- -e- LU HHCd ■ c—>E-----?18" BEAMS 5 ROWS CP----- 3 r

----- 2"SQ.X1/4" PLATE 
WASHER

CO CDCO

’LLe HITYP.
21 & 24" BEAMS 6 ROWS 1/4 <TYP.fE Q
27" BEAMS 7 ROWS TYP.

© 5/16 3/16 CM2-L3 1/2x3 1/2x3/8 W/4" GAGE30" BEAMS 8 ROWS 1/2"> 3/8" SHEAR TAB FULL DEPTH W/
3/4"0 A325 BOLTS NUMBER PER SCHEDULE

NOTE: o
CM

FINAL BASE PLATE AND ANCHOR LAYOUT FOR HSS COL. AT EX. 
FOUNDATION SHALL BE PROVIDED AFTER EX. FOUNDATION 
DIMENSIONS ARE FIELD VERIFIED.
USE EPOXY ANCHORS INTO EX. FOUNDATION EMBED 12" MIN. 
(FINAL EMBED DEPTH AFTER FIELD VERIFICATION OF 
FOUNDATION DIMENSIONS.

1.TYP. W BM. 
(SEE PLAN)

33" BEAMS 9 ROWS W-BEAM 
(SEE PLAN)

3/4"0 A325 BOLTS 
NUMBER PER SCHEDULE

O4"HSS COL. 
(SEE PLAN)

1/4-x
36" BEAMS 10 ROWS TYP. HSS5x5 COL. BASE PLATE/ TYP. 3 w61/2"x1/2"x61/2" A36 PLATE 

W/ (4) 3/4"0 A325 BOLTS (TYP.) 
W/3 1/2" GAGE

12.
SIDES3/16 LUBOLTS TO BE 3/4"0 A325 FOR W8 TO W24 BEAMS 

7/8"0 A325 FOR W27 TO W36 BEAMS U.N.O.
3/4" = 1'-0II

LUz
CD

MOMENT CONN. TO HSS COL. 4 TYP. BM. TO BM. DL. ANGLE CONN. 2 TYP. BEAM TO BEAM CONNECTION 2 TYP. HSS6X6 COL.BASE PLATE z
5 o LU

BOLT SCHEDULE QCCO3/4"= 1'-0 11/2" = r-o" 3/4" = 1'-0"m 1" = r-oiiA LU>
gLU11/2" = r-o ii

<^BM 
± 4 3/4"

CO

B 3q°co *X—j x gPLACE PLATE 4" DOWN FROM 
TOP BEAMS U.N.O.

coco5C Q BM3/8 T&B 
RETURN

<coh~ A iuj < <1/4 ©Q <X = # BOLTS- L LU LUB co COCO CO CO COLUh- DQ CDCO D o 31/2'% DOo h
X- << < < < <UJ 1 LU W-BEAM (SEE PLAN) 1 1/2"-D o CM LU LU3- LU LU UJ LU

O CO, 08 08a CO DO DO DO DO COco
' \ 3/4" 0 A325 N BOLTS 

FOR BEAMS 8" TO 24"
7/8" 0 A325 N BOLTS - 

FOR BEAMS 27" TO 36" © ^

08p 1
CL 04 LO CO h- O CO CDCO+1 V 5■ CO CM C\| CO CO CO ^ t, VAEq.-.,

‘ A R ^AN!d AS

PLATE OF THICKNESS "T" ,OvQ 0 <g & v,o
<> $

/\ /\ /\ /\ /\ /\ /\ l\ l\9am m
<>,i2i4* &

4*COII
/ 1/2" T&B 

RETURN
c© CO CO COCO CO CO CO CO1 1/2"P s'X v§ §JC ★PLATFORM BEAM 

WEB
O TT sT o1/4 W OR C-BEAM (SEE PLAN) 

EXTEND WEB
O O O O O O O O LICENSEDSLU 1/2" MAX. pW-BEAM 

(SEE PLAN).
h- U PpOFp p P P p DC p pW MEMBER (SEE PLAN 

OR ELEVATION)
3/8" PLATE FOR 

BEAMS 8" TO 24" 
1/2" PLATE FOR 

BEAMS 27" TO 36"

soIf Vs" CAP PL\ CO 't m CD h- 00 03CM s RDa. ★  ★  ★
No. 14516 Xi*

V&L

■7> \GUSSET PL. OF 
THICKNESS "t"

CMTYP.p \l \l \l \l \l \l \l \l \l ICMWTSCHEDULE 
HSS4x4 - WT4x7.5 
HSS5X5-WT4X10.5 
HSS6x6 - WT4x14

%c.
" 3 rDO - C3

P go ■ 3 rLU FULL TOP &
BOT.
RETURN

/° X coHORT. ANGLE BRACE 
(SEE PLAN)

K o
>< 1/4DOUBLE ANGLE X-BRACE 

W/ (X) 3/4" 0 A325 BOLTS

NOTE:

LU 3/16-CMir TYP.
CN P

9" 3 r 1/4NOTES:
CL HSS COL. 

(SEE PLAN)
Vs" BENT PL1. PROVIDE GUSSET PLATE W/ THICKNESS (T) FROM TABLE: 

PROVIDE FILLET WELD W/ DEPTH (D) FROM TABLE
K

2. 1. PROVIDE (X) 3/4" 0 A325 BOLTS PER 
TABLE: FACE OF COL. WEB OR BEAM WEBO

ANGLE X B T D 3/4"0 A325 BOLTS
(NUMBER PER BOLT SCHEDULE)ANGLE X D Bt NOTE: FOR W24 BEAMS CONNECTED TO HSS COL SHALL HAVE 7 ROWS 

OF BOLTS AND IF REQUIRED 1 1/4 EDGE DISTANCE ON TOP AND BOTTOM 
OF CONNECTION PLATE IS ACCEPTABLE.

3/l6"L3x3x% 2 6 3/s’
3/ie'LL3x3x1/4 Vs"2 12' NOTE: IF INTERFERENCE EXISTS, WT FLANGES MAY 

BE TRIMMED TO PROVIDE A 1/4" FLAT ON HSS COL 
FACE TO FILLET WELD WT TO HSS COLUMN.

s L3x3x3/s 3 9 1/2' LL4x3x1/4 i/2"3 16" wCO 2L3x3x% y2" %"2 9o
CDCOo

TYP. BOLTED ANGLE KNEE BRACE CONN. BEAM TO HSS COLUMN CONNECTIONy TYP. SKEWED BEAM TO BEAM CONNECTION TYP. SHEAR TAB CONN.o TYP. BOLTED HORT. ANGLE BRACE @ BEAM CONN.
i” = r-o

co8 69 cr10 3/4" = r-o 1" = r-o 1" = r-o 1 1/2" = r-o11 11 11 11 Oc\i 11

01 LUo
.CM

C^COL onCO
CM CDLU00 3 1/2"X3/8"X6" PL. (2) 3/4"0 

A235 BOLTS TO GUSSET PL. DOUBLE ANGLE X-BRACE 
W/ (X) 0 A325 BOLTS LUW-BEAM (SEE PLAN) LU9 1/2"e $ DOUBLE ANGLE 

X-BRACE
-A- ±

<3/8"
k © V Od&>FA % DHSS-COLUMN 

(SEE PLAN)
Q<n gC51© DOUBLE ANGLE X-BRACE 

WHERE APPLICABLE 
W/ (X) 3/4" A325 BOLTS

GUSSET PL. THICKNESS T

<8 P u% EXTEND PLATE AND 
MIRROR CONN. IF 

2ND BRACE PRESENT

© ©W BEAM 
(SEE PLAN 
OR ELEVATION)

o (D/ Z)■V \XP MATCH EX. GUSSET 
PLATE THICKNESS

TYP. 3 
SIDES

o© crco TYP. \,Ovo. p 't’X3 1/2" PL. W/
(X) 3/4"0 A325 BOLTS (TYP.)

D P____ 3/16W BEAM ‘ PjP \ g LOPTYP.© 43/8" PL.F O

aTYP. ©GUSSET PL.
OF THICKNESS T

LUANGLE TH Dt DSTIFF. PL EA. SIDE 
THICKNESS T

© gs --©-DOUBLE ANGLE X-BRACE 
W/ (X) 3/4" 0 A325 BOLTS 

(SEE ELEVATION)

NOTE:

L3X3 OR 2L3X3 HORZ.
BRACE W/ (2) 3/4"0 A325 BOLTS 
EA. END (B.O.S. ELEV.= -8") U.N.O

3/i 6"HSS4X4 3/8" TYP. SHEAR TAB CONN. 
THICKNESS T

'D' W8 (SEE PLAN)
TYP.lB a HSS6X6 1 1/2" 'D' DOUBLE ANGLE X-BRACE 

W/ (X) 0 A325 BOLTS
W8-BEAM W/ TYP. 

SHEAR TAB CONN.
9 1/2"

W-BEAM (SEE PLAN) 
HSS COL. FACE CONN.

vD1. PROVIDE (X) 3/4" 0 A325 BOLTS PER 
TABLE:

HSS WIDTH+1" 
(MIN. 6" WIDTH)x 
'TH'xLENGTH PL. 

W/ (4) 3/4"0 A325 BOLTS

(MAY VARY) <8SEE GRATING PLAN %1 11I 4:1/2" 1/4 ©WIDTH NOTE: ©t) K 1 1/2"
HSS COL

ANGLE X Dt TYP.ALL LL3x3 BRACES SHALL HAVE 4"SQ. x GAP WIDTH PL 
@ 3'-0" O.C. ALONG LENGTH OF ANGLE BRACE W/ 3/4" 0 
A325 BOLTS.
ALL LL4x4 BRACES SHALL HAVE 5"SQ. x GAP WIDTH PL 
@ 4'-0" O.C. ALONG LENGTH OF ANGLE BRACE W/ 3/4"0 
A325 BOLTS.
SEE TABLE FOR SPECIFIC CONNECTION INFORMATION:

1.1 1/2 D3/l6"LL3x3x1/4 2 3/8" « HORZ. BRACE ANGLE 
(SEE PLAN)

GUSSET PL. THICKNESS't'LL4x3x1/4 i/2" %"3VARIES it) r-x- -x- 2.
—r© j©
-©■—uH DOUBLE ANGLE X-BRACE 

WHERE APPLICABLE
NOTEW/ (© 3/4" 0 A325 BOLTS

PROVIDE (X) 3/4" 0 A325 BOLTS PER 
TABLE:

BEAM OVER HSS COLUMN DETAIL TYP. BOLTED ANGLE CHEVRON BRACE CONN. ©15 14 3.1" = r-o 3/4" = r-oH I!

7-1/2''X8"X3/8" PLATE
WELDED TO W-BEAM
BOLTED TO PLATE
& HORZ. BRACE ANGLE
(TWO SIDES IF 2ND BRACE PRESENT)

1.
3 1/2” 1/4 ANGLE X DtANGLE X L B D

L3x3x1/4 2 3/16' to3/16'LL3x3x% 2 6' 6"W-BEAM (SEE PLAN)ANGLE BRACE 
(SEE KNEE 

BRACE DETAIL)

© 1/2" -JLL3x3x1/4 2 3/16'LL4x3x% 3 9‘ 6"
LL4x3x1/4 3 1/2'Uj

LU00

^ uj 5^ Co
o

I Q
SHEAR TAB CONN. 

W/1/2" PL. HORIZ. ANGLE BRACE CONN. @ W8 BEAM TYP. BOLTED X-BRACE CONN. - DBL L TYP. BOLTED ANGLE BRACE CONN. @ HSS COL.
3/4" = r-o"

D3 CO h-.C - —r5[ co 5C13 12 11Sc >- o3:5 CO h- o. LU3/4" = r-0"1" = r-o"3
COCQ Co"oTYP. MT. BLDG. COL. 

(BY OTHERS)
—7 LUCD OTYP. i-V) 5C1/45 a:u:W10 (SEE PLAN) W18 BM. SEE PLAN 5a UJ -Jo 0.-j P<0 Qo00 cc10"SQ.X1/2" ROLLED PL.

W/ (4) 3/4" HAS RODS 
@ 6" GAGE(SEE NOTE)

NOTE: (4) 3/4"0 HILTI HAS-V-36 GALV. ROD 
ANCHORS W/ HILTI HIT-HY 200 V3 
ADHESIVE, EMBEDDED 6" INTO 
SIDE OF EX. CONC. WALL

Ul Pin QANGLE BRACE 
(SEE ELEVATION)

HSS5X5 (SEE ELEV.) c00 ANGLE BRACE 
(SEE ELEVATION)

h- PTYP. 3 CC o03 1/2"X3" STIFFENER PL. EA. SIDE UJPo KI » SIDES / 1/4CO OQPoo
S2 §s- a:(4) 3/4"0 A325 BOLTS 

W/ DL. NUTS @ BM GAGE
L3X3X3/8 BY 6" MIN. 

W/ (2) 3/4"0 A325 BOLTS 
AT BM. GAGE TOP & BOT.

CD a:03 O CD LU COAx8 o pp p >- Oaa UJ2L31/2X31/2X3/8 W/ 
61/2X3/4"X7" PL.

(4) 3/4"0 HILTI HAS-V-36 GALV. ROD 
ANCHORS W/ HILTI HIT-HY 200 V3 
ADHESIVE, EMBEDDED 8" INTO 
TOP OF CONC. WALL

P M.a:~jE W12X26 HOIST BM. (SEE PLAN) CDn Q-j I-TT Q o(4) 3/4"0 HILTI HAS-V-36 GALV. ROD 
ANCHORS W/ HILTI HIT-HY 200 V3 
ADHESIVE, EMBEDDED 7" INTO 
TOP OF CONC. WALL

O P5C4"x4"x GUSSET PLATE 
THICKNESS (3/8" MIN.) 
W/(1)3/4"0 A325 BOLT

Pco P3 1/4" -J
coO a.CM copCD aK[ QHSS TO MT. BLDG. COL. CONN. BEAM TO CONC. TANK CONN. pco a:CD 21 20 -JCD o* - V^;o° X

© ©
2L3X3X3/S W/ (2) 
3/4"0 A325 BOLTS

o ^u CO
lJJj lLJj4^

P 3/4" = r-o 3/4" = r-oI! H iP'xz q:1 3/4" a:©Ap \foQ
LUo - CMX *

go N
h-P W21(SEE PLAN)8 TYP. iuCO COCD 1/4 CM- CM', 

- - ^ V
CJ3 THICKNESS = 1 

HSS4X4 COL.
o
P THICKNESS = 1

TYP. ANGLE X-BRACE CONN. - SINGLE BOLTED/ 7"USE EPOXY GROUT 
CUT11/2" BY 2" GROOVE 
TOP OF WALL FOR 
SHEAR PLATES

NOTE: CONTRACTOR TO DETERMINE WITH OWNER THE 
LOCATION OF THE HOIST STOPS. HOIST BEAM SHOULD HAVE 
TWO HOIST STOPS, ONE ON BOTH ENDS OF THE HOIST BEAM.

© Jk 1611/2"OF epoxy grout 
CUT 11/2" BY 2" GROOVE 
TOP OF WALL FOR SHEAR PL.

/ AUGUST 2024A00 DATE:3/4" = 1'-0MCOo As indicatedSCALE:00 ©CM cP* 1/4UJ JMRg DESIGNED BY:
CO © HOIST BEAM CONN. & STOP ANGLESo TPL17 DRAWN BY:3/4" SHEAR PLATES WELDED TO BOT. 

OF BASE PL. W/1/4" FILLET WELD EACH 
SIDE OF A WIDTH THAT EXTEND 1 1/2" 
INTO TOP OF CONC. WALL.

3/4"X 3" SHEAR PL. 
WELDED TO BOT. OF 
BASE PL. W/1/4" FILLET 
WELD EACH SIDE

/CD 1" = r-oI! 2020043©4 HWEI NO.:oo
Q SA-17FILENAME:
CD

W21 BEAM TO CONC. WALL CONN. TYP. HSS4x4 COL. BASE PL. ON CONC. WALLCD SHEET NO.73 19 18o SA-173 1" = r-o 1" = r-oI! I!

<4;


